

SOME NEW HERMITE-HADAMARD TYPE INEQUALITIES FOR n -TIMES log-CONVEX FUNCTIONS

B. MEFTAH ⁽¹⁾ AND C. MARROUCHE ⁽²⁾

ABSTRACT. In this paper, some Hermite-Hadamard type inequalities for n -times differentiable log-convex functions are established.

1. INTRODUCTION

The following definitions are well know in the literature

Definition 1. [13] A function $f : I \rightarrow \mathbb{R}$ is said to be convex, if

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y)$$

holds for all $x, y \in I$ and all $t \in [0, 1]$.

Definition 2. [13] A positive function $f : I \rightarrow \mathbb{R}$ is said to be logarithmically convex, if

$$f(tx + (1-t)y) \leq [f(x)]^t [f(y)]^{1-t}$$

holds for all $x, y \in I$ and all $t \in [0, 1]$.

2000 *Mathematics Subject Classification.* 26D15, 26D20, 26A51.

Key words and phrases. Integral inequality, log-convex function, Hölder inequality, power mean inequality.

Copyright © Deanship of Research and Graduate Studies, Yarmouk University, Irbid, Jordan.

Received: May 14, 2020

Accepted: Sept. 9, 2021 .

One of the most well-known inequalities in mathematics for convex functions is the so called Hermite-Hadamard integral inequality, which can be formulated as follows: for each convex function f over the finite interval $[a, b]$, we have

$$(1.1) \quad f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}.$$

If the function f is concave, then (1.1) holds in the reverse direction (see [11]).

The above double inequality has attracted many researchers, various generalizations, refinements, extensions and variants of (1.1) have appeared in the literature, see [3, 6, 10] and references therein.

In [2] Dragomir and Agarwal gave the following inequality connected with inequality (1.1)

$$\left| \frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{b-a}{8} (|f'(a)| + |f'(b)|).$$

In [12] Pearce and Pečarić investigate the following inequality

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{b-a}{4} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{\frac{1}{q}}.$$

In [4], Kavurmaci et al. gave the following generalized trapezoid type inequality

$$\begin{aligned} & \left| \frac{(b-x)f(b)+(x-a)f(a)}{b-a} - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{(x-a)^2}{b-a} \left(\frac{2|f'(a)|+|f'(x)|}{6} \right) + \frac{(b-x)^2}{b-a} \left(\frac{2|f'(b)|+|f'(x)|}{6} \right). \end{aligned}$$

Cerone and Dragomir [1], proved the following midpoint inequality for log-convex first derivative

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{b-a}{4} \left\{ |f'(a)| \frac{\alpha \ln \alpha + 1 - \alpha}{(\ln \alpha)^2} + |f'(b)| \frac{\beta \ln \beta + 1 - \beta}{(\ln \beta)^2} \right\}, \end{aligned}$$

where $\alpha = \frac{|f'(\frac{a+b}{2})|}{|f'(a)|}$ and $\beta = \frac{|f'(\frac{a+b}{2})|}{|f'(b)|}$.

In [15], Sarikaya et al. gave the following midpoint type inequalities for log-convex first derivative

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq (b-a) \left(\frac{|f'(b)|^{\frac{1}{2}} - |f'(a)|^{\frac{1}{2}}}{|\ln|f'(b)|| - |\ln|f'(a)||} \right)^2.$$

In [9], Meftah et al. used the following identity for establishing some n -times Hermite-Hadamard type inequalities

Lemma 1. [9] Let $f : [a, b] \rightarrow \mathbb{R}$ be a mapping such that the derivative $f^{(n-1)}$ ($n \geq 1$) is absolutely continuous on $[a, b]$ with $a < b$. Then the sum

$$\begin{aligned} C(f, x, n, \lambda) : &= \sum_{p=0}^{n-1} \frac{1}{(n-p)!(b-a)^p} \left(\left(\lambda - \frac{x-a}{b-a} \right)^{n-p} - (-1)^{n-p} (1-\lambda)^{n-p} \right) \\ &\times f^{(n-1-p)}((1-\lambda)a + \lambda b) - \left(\left(\frac{b-x}{b-a} - \lambda \right)^{n-p} - (1-\lambda)^{n-p} \right) \\ &\times f^{(n-1-p)}(\lambda a + (1-\lambda)b) + \frac{(-1)^n}{(b-a)^n} \int_a^b f(t) dt \end{aligned}$$

satisfies the equality

$$C(f, x, n, \lambda) = \int_a^b k_n(x, t) f^{(n)}(t) dt$$

for all $x \in [a, b]$ and $\lambda \in [\frac{1}{2}, 1]$, where $n \in \mathbb{N}$ and the kernel $k_n(x, t) : [a, b]^2 \rightarrow \mathbb{R}$ is given by

$$(1.2) \quad k_n(x, t) = \begin{cases} \frac{1}{n!} \left(\frac{t-a}{b-a} \right)^n & \text{if } t \in [a, \lambda a + (1-\lambda)b] \\ \frac{1}{n!} \left(\frac{t-x}{b-a} \right)^n & \text{if } t \in [\lambda a + (1-\lambda)b, (1-\lambda)a + \lambda b] \\ \frac{1}{n!} \left(\frac{t-b}{b-a} \right)^n & \text{if } t \in [(1-\lambda)a + \lambda b, b]. \end{cases}$$

Motivated by the above results in this paper, by using the identity given in Lemma 1, we establish some Hermite-Hadamard type inequalities for n -times differentiable log-convex functions.

2. MAIN RESULTS

In order to prove our results we need the following lemma

Lemma 2. [6] *Let $\mu > 0, \mu \neq 1$ and $n \in \mathbb{N}$. Then*

$$\int_0^1 t^n \mu^t dt = \frac{(-1)^{n+1} n!}{(\ln \mu)^{n+1}} + n! \mu \sum_{k=0}^n \frac{(-1)^k}{(n-k)! (\ln \mu)^{k+1}}.$$

Theorem 1. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping such that $f^{(n-1)}$ is absolutely continuous on $[a, b]$. If $|f^{(n)}|$ is log-convex function such that $f^{(n)}(\mu) \neq 0$ for all $\mu \in [a, b]$, then for all $x \in [\lambda a + (1-\lambda)b, (1-\lambda)a + \lambda b]$ and $\lambda \in [\frac{1}{2}, 1]$ the following inequalities hold*

for $\lambda = \frac{1}{2}$

$$\begin{aligned} |C(f, x, n, \frac{1}{2})| &\leq \frac{b-a}{n! 2^{n+1}} (|f^{(n)}(a)| \varphi(|f^{(n)}(\frac{a+b}{2})|, |f^{(n)}(a)|) \\ &+ |f^{(n)}(b)| \varphi(|f^{(n)}(\frac{a+b}{2})|, |f^{(n)}(b)|)), \end{aligned}$$

for $\lambda = 1$

$$\begin{aligned} |C(f, x, n, 1)| &\leq \frac{(x-a)^{n+1} |f^{(n)}(x)|}{n!(b-a)^n} \varphi(|f^{(n)}(a)|, |f^{(n)}(x)|) \\ &+ \frac{(b-x)^{n+1} |f^{(n)}(x)|}{n!(b-a)^n} \varphi(|f^{(n)}(b)|, |f^{(n)}(x)|), \end{aligned}$$

for $\lambda \in (\frac{1}{2}, 1)$

$$\begin{aligned} &|C(f, x, n, \lambda)| \\ &\leq \frac{(b-a)(1-\lambda)^{n+1}}{n!} |f^{(n)}(a)| \varphi(|f^{(n)}(\lambda a + (1-\lambda)b)|, |f^{(n)}(a)|) \\ &+ \frac{(x-(\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n} |f^{(n)}(x)| \varphi(|f^{(n)}(\lambda a + (1-\lambda)b)|, |f^{(n)}(x)|) \\ &+ \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n} |f^{(n)}(x)| \varphi(|f^{(n)}((1-\lambda)a + \lambda b)|, |f^{(n)}(x)|) \\ &+ \frac{(b-a)(1-\lambda)^{n+1}}{n!} |f^{(n)}(b)| \varphi(|f^{(n)}((1-\lambda)a + \lambda b)|, |f^{(n)}(b)|), \end{aligned}$$

where

$$\varphi(y, z) = \begin{cases} \frac{(-1)^{n+1} n!}{(\ln|f^{(n)}(y)| - \ln|f^{(n)}(z)|)^{n+1}} \\ + n! \frac{|f^{(n)}(y)|}{|f^{(n)}(z)|} \sum_{k=0}^{k=n} \frac{(-1)^k}{(n-k)! (\ln|f^{(n)}(y)| - \ln|f^{(n)}(z)|)^{k+1}} & \text{if } y \neq z \\ \frac{1}{n+1} & \text{if } y = z. \end{cases}$$

(2.1)

Proof. Using Lemma 1, and the properties of modulus, we have

$$\begin{aligned} & |C(f, x, n, \lambda)| \\ &= \left| \int_a^b k_n(x, t) f^{(n)}(t) dt \right| \\ &\leq \int_a^b |k_n(x, t)| |f^{(n)}(t)| dt \\ &= \frac{1}{(b-a)^n} \int_a^{\lambda a + (1-\lambda)b} \frac{(t-a)^n}{n!} |f^{(n)}(t)| dt + \frac{1}{(b-a)^n} \int_{\lambda a + (1-\lambda)b}^x \frac{(x-t)^n}{n!} |f^{(n)}(t)| dt \\ &\quad + \frac{1}{(b-a)^n} \int_x^{(1-\lambda)a + \lambda b} \frac{(t-x)^n}{n!} |f^{(n)}(t)| dt + \frac{1}{(b-a)^n} \int_{(1-\lambda)a + \lambda b}^b \frac{(b-t)^n}{n!} |f^{(n)}(t)| dt \\ &= \frac{(b-a)(1-\lambda)^{n+1}}{n!} \int_0^1 \alpha^n |f^{(n)}((1-\alpha)a + \alpha(\lambda a + (1-\lambda)b))| d\alpha \\ &\quad + \frac{(x - (\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n} \int_0^1 (1-\alpha)^n |f^{(n)}((1-\alpha)(\lambda a + (1-\lambda)b) + \alpha x)| d\alpha \\ &\quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n} \int_0^1 \alpha^n |f^{(n)}((1-\alpha)x + \alpha((1-\lambda)a + \lambda b))| d\alpha \\ &\quad + \frac{(b-a)(1-\lambda)^{n+1}}{n!} \int_0^1 (1-\alpha)^n |f^{(n)}((1-\alpha)((1-\lambda)a + \lambda b) + \alpha b)| d\alpha. \end{aligned}$$

(2.2)

Using the log-convexity of $|f^{(n)}|$, (2.2) gives

$$\begin{aligned}
 & |C(f, x, n, \lambda)| \\
 & \leq \frac{(b-a)(1-\lambda)^{n+1}}{n!} |f^{(n)}(a)| \int_0^1 \alpha^n \left(\frac{|f^{(n)}(\lambda a + (1-\lambda)b|}{|f^{(n)}(a)|} \right)^\alpha d\alpha \\
 & \quad + \frac{(x - (\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n} |f^{(n)}(x)| \int_0^1 \alpha^n \left(\frac{|f^{(n)}(\lambda a + (1-\lambda)b|}{|f^{(n)}(x)|} \right)^\alpha d\alpha \\
 & \quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n} |f^{(n)}(x)| \int_0^1 \alpha^n \left(\frac{|f^{(n)}((1-\lambda)a + \lambda b|}{|f^{(n)}(x)|} \right)^\alpha d\alpha \\
 (2.3) \quad & \quad + \frac{(b-a)(1-\lambda)^{n+1}}{n!} |f^{(n)}(b)| \int_0^1 \alpha^n \left(\frac{|f^{(n)}((1-\lambda)a + \lambda b|}{|f^{(n)}(b)|} \right)^\alpha d\alpha.
 \end{aligned}$$

If $\lambda = \frac{1}{2}$, then (2.3) becomes

$$\begin{aligned}
 |C(f, x, n, \tfrac{1}{2})| & \leq \frac{b-a}{n!2^{n+1}} |f^{(n)}(a)| \int_0^1 \alpha^n \left(\frac{|f^{(n)}(\frac{a+b}{2})|}{|f^{(n)}(a)|} \right)^\alpha d\alpha \\
 & \quad + \frac{b-a}{n!2^{n+1}} |f^{(n)}(b)| \int_0^1 \alpha^n \left(\frac{|f^{(n)}(\frac{a+b}{2})|}{|f^{(n)}(b)|} \right)^\alpha d\alpha.
 \end{aligned}$$

Using Lemma 2, the above inequality gives

$$\begin{aligned}
 |C(f, x, n, \tfrac{1}{2})| & \leq \frac{b-a}{n!2^{n+1}} (|f^{(n)}(a)| \varphi(|f^{(n)}(\tfrac{a+b}{2})|, |f^{(n)}(a)|) \\
 (2.4) \quad & \quad + |f^{(n)}(b)| \varphi(|f^{(n)}(\tfrac{a+b}{2})|, |f^{(n)}(b)|)),
 \end{aligned}$$

where $\varphi(.,.)$ is defined as in (2.1).

If $\lambda = 1$, then from (2.3) we have

$$|C(f, x, n, 1)| \leq \frac{(x-a)^{n+1} |f^{(n)}(x)|}{n!(b-a)^n} \int_0^1 \alpha^n \left(\frac{|f^{(n)}(a)|}{|f^{(n)}(x)|} \right)^\alpha d\alpha$$

$$(2.5) \quad + \frac{(b-x)^{n+1} |f^{(n)}(x)|}{n!(b-a)^n} \int_0^1 \alpha^n \left(\frac{|f^{(n)}(b)|}{|f^{(n)}(x)|} \right)^\alpha d\alpha.$$

Using Lemma 2, we get

$$(2.6) \quad |C(f, x, n, 1)| \leq \frac{(x-a)^{n+1} |f^{(n)}(x)|}{n!(b-a)^n} \varphi(|f^{(n)}(a)|, |f^{(n)}(x)|) \\ + \frac{(b-x)^{n+1} |f^{(n)}(x)|}{n!(b-a)^n} \varphi(|f^{(n)}(b)|, |f^{(n)}(x)|),$$

where $\varphi(., .)$ is defined as in (2.1).

And if $\lambda \neq 1$ and $\lambda \neq \frac{1}{2}$, from (2.3) and Lemma 2, we obtain

$$(2.7) \quad |C(f, x, n, \lambda)| \\ \leq \frac{(b-a)(1-\lambda)^{n+1}}{n!} |f^{(n)}(a)| \varphi(|f^{(n)}(\lambda a + (1-\lambda)b)|, |f^{(n)}(a)|) \\ + \frac{(x - (\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n} |f^{(n)}(x)| \varphi(|f^{(n)}(\lambda a + (1-\lambda)b)|, |f^{(n)}(x)|) \\ + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n} |f^{(n)}(x)| \varphi(|f^{(n)}((1-\lambda)a + \lambda b)|, |f^{(n)}(x)|) \\ + \frac{(b-a)(1-\lambda)^{n+1}}{n!} |f^{(n)}(b)| \varphi(|f^{(n)}((1-\lambda)a + \lambda b)|, |f^{(n)}(b)|),$$

where $\varphi(., .)$ is defined as in (2.1). The desired result follows from (2.4), (2.6) and (2.7). $\square$

Corollary 1. *In Theorem 1, if we take $n = \lambda = 1$, we obtain the following generalized trapezoidal type inequalities*

$$\left| \frac{b-x}{b-a} f(b) + \frac{x-a}{b-a} f(a) - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ \leq \frac{b-a}{4} \{ |f'(a)| \varphi(|f'(\frac{a+b}{2})|, |f'(a)|) + |f'(b)| \varphi(|f'(\frac{a+b}{2})|, |f'(b)|) \}.$$

Hence, the explicit writing is

$$\left| \frac{b-x}{b-a} f(b) + \frac{x-a}{b-a} f(a) - \frac{1}{b-a} \int_a^b f(t) dt \right|$$

$$\leq \left\{ \begin{array}{l} \frac{(x-a)^2 + (b-x)^2}{2(b-a)} |f'(x)| \text{ if } |f'(a)| = |f'(x)| = |f'(b)|, \\ \frac{(x-a)^2}{2(b-a)} |f'(x)| + \frac{(b-x)^2}{b-a} \left(\frac{|f'(b)|}{\ln|f'(b)| - \ln|f'(x)|} + \frac{|f'(x)| - |f'(b)|}{(\ln|f'(b)| - \ln|f'(x)|)^2} \right) \\ \text{if } |f'(a)| = |f'(x)| \neq |f'(b)|, \\ \frac{(x-a)^2}{b-a} \left(\frac{|f'(a)|}{\ln|f'(a)| - \ln|f'(x)|} + \frac{|f'(x)| - |f'(a)|}{(\ln|f'(a)| - \ln|f'(x)|)^2} \right) + \frac{(b-x)^2}{2(b-a)} |f'(x)| \\ \text{if } |f'(a)| \neq |f'(x)| = |f'(b)|, \\ \frac{(x-a)^2}{b-a} \left(\frac{|f'(a)|}{\ln|f'(a)| - \ln|f'(x)|} + \frac{|f'(x)| - |f'(a)|}{(\ln|f'(a)| - \ln|f'(x)|)^2} \right) \\ + \frac{(b-x)^2}{b-a} \left(\frac{|f'(b)|}{\ln|f'(b)| - \ln|f'(x)|} + \frac{|f'(x)| - |f'(b)|}{(\ln|f'(b)| - \ln|f'(x)|)^2} \right) \\ \text{if } |f'(a)| \neq |f'(x)| \neq |f'(b)|. \end{array} \right.$$

Corollary 2. In Theorem 1, if we take $n = \lambda = 1$, and $x = \frac{a+b}{2}$, we obtain the following trapezoidal type inequalities

$$\left| \frac{f(b)+f(a)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{b-a}{4} \left\{ |f'(\frac{a+b}{2})| \varphi(|f'(a)|, |f'(\frac{a+b}{2})|) + |f'(\frac{a+b}{2})| \varphi(|f'(b)|, |f'(\frac{a+b}{2})|) \right\}.$$

Corollary 3. In Theorem 1, if we take $n = 2\lambda = 1$, we obtain the following midpoint type inequalities

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{b-a}{4} \left\{ |f'(a)| \varphi\left(|f'(\frac{a+b}{2})|, |f'(a)|\right) + |f'(b)| \varphi\left(|f'(\frac{a+b}{2})|, |f'(b)|\right) \right\}.$$

Remark 1. The result in Corollary 3 is the same of Corollary 3 from [1].

Remark 2. Corollary 3 will be reduced to Corollary 1 from [15], if we assume that $|f'(a)| \neq |f'(x)| \neq |f'(b)|$ and we used the log-convexity of $|f'|$ i.e. $|f'(\frac{a+b}{2})| \leq \sqrt{|f'(a)||f'(b)|}$ (see [3]).

Theorem 2. Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping such that $f^{(n-1)}$ is absolutely continuous on $[a, b]$. If $|f^{(n)}|^q$ such that $q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$ is log-convex function, such that $f^{(n)}(\mu) \neq 0$ for all $\mu \in [a, b]$, then for all $x \in [\lambda a + (1 - \lambda)b, (1 - \lambda)a + \lambda b]$ and $\lambda \in [\frac{1}{2}, 1]$ the following inequalities hold

for $\lambda = \frac{1}{2}$

$$|C(f, x, n, \frac{1}{2})| \leq \frac{b-a}{n!2^{n+1}(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(F \left(|f^{(n)}(\frac{a+b}{2})|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\ + \frac{b-a}{n!2^{n+1}(np+1)^{\frac{1}{p}}} |f^{(n)}(\frac{a+b}{2})| \left(F \left(|f^{(n)}(b)|^q, |f^{(n)}(\frac{a+b}{2})|^q \right) \right)^{\frac{1}{q}},$$

for $\lambda = 1$

$$|C(f, x, n, 1)| \leq \frac{(x-a)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(F \left(|f^{(n)}(x)|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\ + \frac{(b-x)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(x)| \left(F \left(|f^{(n)}(b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}},$$

for $\lambda \in (\frac{1}{2}, 1)$

$$|C(f, x, n, \lambda)| \\ \leq \frac{(b-a)(1-\lambda)^{n+1}}{n!(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(F \left(|f^{(n)}(\lambda a + (1-\lambda)b)|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\ + \frac{(x-(\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(\lambda a + (1-\lambda)b)| \left(F \left(|f^{(n)}(x)|^q, |f^{(n)}(\lambda a + (1-\lambda)b)|^q \right) \right)^{\frac{1}{q}} \\ + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(x)| \left(F \left(|f^{(n)}((1-\lambda)a + \lambda b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}} \\ + \frac{(b-a)(1-\lambda)^{n+1}}{n!(np+1)^{\frac{1}{p}}} |f^{(n)}((1-\lambda)a + \lambda b)| \left(F \left(|f^{(n)}(b)|^q, |f^{(n)}((1-\lambda)a + \lambda b)|^q \right) \right)^{\frac{1}{q}},$$

where

$$(2.8) \quad F(y, z) = \begin{cases} \frac{y-z}{z(\ln y - \ln z)} & \text{if } y \neq z \\ 1 & \text{if } y = z. \end{cases}$$

Proof. Using Lemma 1, the properties of modulus, and Hölder's inequality, we get

$$|C(f, x, n, \lambda)|$$

$$\begin{aligned}
&\leq \frac{(b-a)(1-\lambda)^{n+1}}{n!} \left(\int_0^1 \alpha^{np} d\alpha \right)^{\frac{1}{p}} \left(\int_0^1 |f^{(n)}((1-\alpha)a + \alpha(\lambda a + (1-\lambda)b))|^q d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{(x-(\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n} \left(\int_0^1 (1-\alpha)^{np} d\alpha \right)^{\frac{1}{p}} \\
&\quad \times \left(\int_0^1 |f^{(n)}((1-\alpha)(\lambda a + (1-\lambda)b) + \alpha x)|^q d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n} \left(\int_0^1 \alpha^{np} d\alpha \right)^{\frac{1}{p}} \\
&\quad \times \left(\int_0^1 |f^{(n)}((1-\alpha)x + \alpha((1-\lambda)a + \lambda b))|^q d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{(1-\lambda)^{n+1}(b-a)}{n!} \left(\int_0^1 (1-\alpha)^{np} d\alpha \right)^{\frac{1}{p}} \\
&\quad \times \left(\int_0^1 |f^{(n)}((1-\alpha)((1-\lambda)a + \lambda b) + \alpha b)|^q d\alpha \right)^{\frac{1}{q}} \\
&= \frac{(b-a)(1-\lambda)^{n+1}}{n!(np+1)^{\frac{1}{p}}} \left(\int_0^1 |f^{(n)}((1-\alpha)a + \alpha(\lambda a + (1-\lambda)b))|^q d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{(x-(\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} \left(\int_0^1 |f^{(n)}((1-\alpha)(\lambda a + (1-\lambda)b) + \alpha x)|^q d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} \left(\int_0^1 |f^{(n)}((1-\alpha)x + \alpha((1-\lambda)a + \lambda b))|^q d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{(1-\lambda)^{n+1}(b-a)}{n!(np+1)^{\frac{1}{p}}} \left(\int_0^1 |f^{(n)}((1-\alpha)((1-\lambda)a + \lambda b) + \alpha b)|^q d\alpha \right)^{\frac{1}{q}}.
\end{aligned}$$

Since $|f^{(n)}|^q$ is log-convex, we deduce

$$\begin{aligned}
 (2.9) \quad & |C(f, x, n, \lambda)| \\
 & \leq \frac{(b-a)(1-\lambda)^{n+1}}{n!(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(\int_0^1 \left(\frac{|f^{(n)}(\lambda a + (1-\lambda)b|^q}{|f^{(n)}(a)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
 & \quad + \frac{(x - (\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(\lambda a + (1-\lambda)b)| \left(\int_0^1 \left(\frac{|f^{(n)}(x)|^q}{|f^{(n)}(\lambda a + (1-\lambda)b|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
 & \quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(x)| \left(\int_0^1 \left(\frac{|f^{(n)}((1-\lambda)a + \lambda b|^q}{|f^{(n)}(x)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
 & \quad + \frac{(1-\lambda)^{n+1}(b-a)}{n!(np+1)^{\frac{1}{p}}} |f^{(n)}((1-\lambda)a + \lambda b)| \left(\int_0^1 \left(\frac{|f^{(n)}(b)|^q}{|f^{(n)}((1-\lambda)a + \lambda b|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}}.
 \end{aligned}$$

If $\lambda = \frac{1}{2}$, then from (2.9) we have

$$\begin{aligned}
 & |C(f, x, n, \lambda)| \\
 & \leq \frac{b-a}{n!2^{n+1}(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(\int_0^1 \left(\frac{|f^{(n)}(\frac{a+b}{2})|^q}{|f^{(n)}(a)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
 & \quad + \frac{b-a}{n!2^{n+1}(np+1)^{\frac{1}{p}}} |f^{(n)}(\frac{a+b}{2})| \left(\int_0^1 \left(\frac{|f^{(n)}(b)|^q}{|f^{(n)}(\frac{a+b}{2})|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
 & = \frac{b-a}{n!2^{n+1}(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(F \left(|f^{(n)}(\frac{a+b}{2})|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\
 (2.10) \quad & \quad + \frac{b-a}{n!2^{n+1}(np+1)^{\frac{1}{p}}} |f^{(n)}(\frac{a+b}{2})| \left(F \left(|f^{(n)}(b)|^q, |f^{(n)}(\frac{a+b}{2})|^q \right) \right)^{\frac{1}{q}}.
 \end{aligned}$$

If $\lambda = 1$, then from (2.9) we have

$$|C(f, x, n, \lambda)|$$

$$\begin{aligned}
&\leq \frac{(x-a)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(\int_0^1 \left(\frac{|f^{(n)}(x)|^q}{|f^{(n)}(a)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{(b-x)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(x)| \left(\int_0^1 \left(\frac{|f^{(n)}(b)|^q}{|f^{(n)}(x)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
&= \frac{(x-a)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(F \left(|f^{(n)}(x)|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\
(2.11) \quad &\quad + \frac{(b-x)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(x)| \left(F \left(|f^{(n)}(b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}}.
\end{aligned}$$

And if $\lambda \neq 1$ and $\lambda \neq \frac{1}{2}$, from (2.9) we have

$$\begin{aligned}
&|C(f, x, n, \lambda)| \\
&\leq \frac{(b-a)(1-\lambda)^{n+1}}{n!(np+1)^{\frac{1}{p}}} |f^{(n)}(a)| \left(F \left(|f^{(n)}(\lambda a + (1-\lambda)b)|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\
&\quad + \frac{(x-(\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(\lambda a + (1-\lambda)b)| \left(F \left(|f^{(n)}(x)|^q, |f^{(n)}(\lambda a + (1-\lambda)b)|^q \right) \right)^{\frac{1}{q}} \\
&\quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(np+1)^{\frac{1}{p}}} |f^{(n)}(x)| \left(F \left(|f^{(n)}((1-\lambda)a + \lambda b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}} \\
(2.12) \quad &\quad + \frac{(b-a)(1-\lambda)^{n+1}}{n!(np+1)^{\frac{1}{p}}} |f^{(n)}((1-\lambda)a + \lambda b)| \left(F \left(|f^{(n)}(b)|^q, |f^{(n)}((1-\lambda)a + \lambda b)|^q \right) \right)^{\frac{1}{q}}.
\end{aligned}$$

The desired result follows from (2.10), (2.11) and (2.12). $\square$

Corollary 4. *In Theorem 2, if we take $n = \lambda = 1$, we obtain the following generalized trapezoidal type inequalities*

$$\begin{aligned}
&\left| \frac{b-x}{b-a} f(b) + \frac{x-a}{b-a} f(a) - \frac{1}{b-a} \int_a^b f(t) dt \right| \\
&\leq \frac{(x-a)^2}{(b-a)(p+1)^{\frac{1}{p}}} |f'(a)| \left(F \left(|f'(x)|^q, |f'(a)|^q \right) \right)^{\frac{1}{q}} \\
&\quad + \frac{(b-x)^2}{(b-a)(p+1)^{\frac{1}{p}}} |f'(x)| \left(F \left(|f'(b)|^q, |f'(x)|^q \right) \right)^{\frac{1}{q}}.
\end{aligned}$$

Corollary 5. *In Theorem 2, if we take $n = \lambda = 1$, and $x = \frac{a+b}{2}$, we obtain the following trapezoidal type inequalities*

$$\begin{aligned} & \left| \frac{f(b)+f(a)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{(b-a)}{4(p+1)^{\frac{1}{p}}} \left\{ |f'(a)| \left(F \left(|f'(\frac{a+b}{2})|^q, |f'(a)|^q \right) \right)^{\frac{1}{q}} \right. \\ & \quad \left. + |f'(\frac{a+b}{2})| \left(F \left(|f'(b)|^q, |f'(\frac{a+b}{2})|^q \right) \right)^{\frac{1}{q}} \right\}. \end{aligned}$$

Corollary 6. *In Theorem 2, if we take $n = 2\lambda = 1$, we obtain the following midpoint type inequalities*

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{b-a}{4(p+1)^{\frac{1}{p}}} \left\{ |f'(a)| \left(F \left(|f'(\frac{a+b}{2})|^q, |f'(a)|^q \right) \right)^{\frac{1}{q}} \right. \\ & \quad \left. + |f'(\frac{a+b}{2})| \left(F \left(|f'(b)|^q, |f'(\frac{a+b}{2})|^q \right) \right)^{\frac{1}{q}} \right\}. \end{aligned}$$

Remark 3. *In Corollary 6, if we assume that $|f'(a)| \neq |f'(x)| \neq |f'(b)|$ and we used the log-convexity of $|f'|$ i.e. $|f'(\frac{a+b}{2})| \leq \sqrt{|f'(a)||f'(b)|}$, we obtain*

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{b-a}{2^{1+\frac{1}{p}}(p+1)^{\frac{1}{p}}q^{\frac{1}{q}}} \left(|f'(b)|^{\frac{1}{2}} + |f'(a)|^{\frac{1}{2}} \right) \left(\frac{|f'(b)|^{\frac{q}{2}} - |f'(a)|^{\frac{q}{2}}}{(\ln|f'(b)| - \ln|f'(a)|)} \right)^{\frac{1}{q}}, \end{aligned}$$

which is the correct result of Corollary 2 (also Theorem 11) from [15].

Theorem 3. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable mapping such that $f^{(n-1)}$ is absolutely continuous on $[a, b]$. If $|f^{(n)}|^q$ with $q > 1$ is convex and positive functions, such that $f^{(n)}(\mu) \neq 0$ for all $\mu \in [a, b]$, then for all $x \in [\lambda a + (1 - \lambda)b, (1 - \lambda)a + \lambda b]$, and $\lambda \in [\frac{1}{2}, 1]$ the following inequalities hold*

for $\lambda = \frac{1}{2}$

$$|C(f, x, n, \lambda)|$$

$$\begin{aligned} &\leq \frac{b-a}{n!2^{n+1}(n+1)^{1-\frac{1}{q}}} |f^{(n)}(a)| \left(\varphi \left(|f^{(n)}\left(\frac{a+b}{2}\right)|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\ &\quad + \frac{b-a}{n!2^{n+1}(n+1)^{1-\frac{1}{q}}} |f^{(n)}(b)| \left(\varphi \left(|f^{(n)}\left(\frac{a+b}{2}\right)|^q, |f^{(n)}(b)|^q \right) \right)^{\frac{1}{q}}, \end{aligned}$$

for $\lambda = 1$

$$\begin{aligned} |C(f, x, n, \lambda)| &\leq \frac{(x-a)^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}(a)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}} \\ &\quad + \frac{(b-x)^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}(b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}}, \end{aligned}$$

for $\lambda \in (\frac{1}{2}, 1)$

$$\begin{aligned} &|C(f, x, n, \lambda)| \\ &\leq \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1-\frac{1}{q}}} |f^{(n)}(a)| \left(\varphi \left(|f^{(n)}(\lambda a + (1-\lambda)b)|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\ &\quad + \frac{(x-(\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}(\lambda a + (1-\lambda)b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}} \\ &\quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}((1-\lambda)a + \lambda b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}} \\ &\quad + \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1-\frac{1}{q}}} |f^{(n)}(b)| \left(\varphi \left(|f^{(n)}((1-\lambda)a + \lambda b)|^q, |f^{(n)}(b)|^q \right) \right)^{\frac{1}{q}}, \end{aligned}$$

where $\varphi(.,.)$ is defined as in (2.1).

Proof. Using Lemma 1, the properties of modulus, and power mean inequality, we get

$$\begin{aligned} &|C(f, x, n, \lambda)| \\ &\leq \frac{(b-a)(1-\lambda)^{n+1}}{n!} \left(\int_0^1 \alpha^n d\alpha \right)^{1-\frac{1}{q}} \\ &\quad \times \left(\int_0^1 \alpha^n |f^{(n)}((1-\alpha)a + \alpha(\lambda a + (1-\lambda)b))|^q d\alpha \right)^{\frac{1}{q}} \end{aligned}$$

$$\begin{aligned}
& + \frac{(x - (\lambda a + (1 - \lambda)b))^{n+1}}{n!(b-a)^n} \left(\int_0^1 (1 - \alpha)^n d\alpha \right)^{1 - \frac{1}{q}} \\
& \times \left(\int_0^1 (1 - \alpha)^n |f^{(n)}((1 - \alpha)(\lambda a + (1 - \lambda)b) + \alpha x)|^q d\alpha \right)^{\frac{1}{q}} \\
& + \frac{((1 - \lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n} \left(\int_0^1 \alpha^n d\alpha \right)^{1 - \frac{1}{q}} \\
& \times \left(\int_0^1 \alpha^n |f^{(n)}((1 - \alpha)x + \alpha((1 - \lambda)a + \lambda b))|^q d\alpha \right)^{\frac{1}{q}} \\
& + \frac{(b-a)(1-\lambda)^{n+1}}{n!} \left(\int_0^1 (1 - \alpha)^n d\alpha \right)^{1 - \frac{1}{q}} \\
& \times \left(\int_0^1 (1 - \alpha)^n |f^{(n)}((1 - \alpha)((1 - \lambda)a + \lambda b) + \alpha b)|^q d\alpha \right)^{\frac{1}{q}} \\
& = \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1 - \frac{1}{q}}} \left(\int_0^1 \alpha^n |f^{(n)}((1 - \alpha)a + \alpha(\lambda a + (1 - \lambda)b))|^q d\alpha \right)^{\frac{1}{q}} \\
& + \frac{(x - (\lambda a + (1 - \lambda)b))^{n+1}}{n!(b-a)^n(n+1)^{1 - \frac{1}{q}}} \left(\int_0^1 (1 - \alpha)^n |f^{(n)}((1 - \alpha)(\lambda a + (1 - \lambda)b) + \alpha x)|^q d\alpha \right)^{\frac{1}{q}} \\
& + \frac{((1 - \lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(n+1)^{1 - \frac{1}{q}}} \left(\int_0^1 \alpha^n |f^{(n)}((1 - \alpha)x + \alpha((1 - \lambda)a + \lambda b))|^q d\alpha \right)^{\frac{1}{q}} \\
& + \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1 - \frac{1}{q}}} \left(\int_0^1 (1 - \alpha)^n |f^{(n)}((1 - \alpha)((1 - \lambda)a + \lambda b) + \alpha b)|^q d\alpha \right)^{\frac{1}{q}}.
\end{aligned}$$

Using the log-convexity of $|f^{(n)}|^q$, we get

$$(2.13) \quad |C(f, x, n, \lambda)|$$

$$\begin{aligned}
&\leq \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1-\frac{1}{q}}} |f^{(n)}(a)| \left(\int_0^1 \alpha^n \left(\frac{|f^{(n)}(\lambda a + (1-\lambda)b|^q}{|f^{(n)}(a)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{(x - (\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\int_0^1 \alpha^n \left(\frac{|f^{(n)}(\lambda a + (1-\lambda)b|^q}{|f^{(n)}(x)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\int_0^1 \alpha^n \left(\frac{|f^{(n)}((1-\lambda)a + \lambda b|^q}{|f^{(n)}(x)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1-\frac{1}{q}}} |f^{(n)}(b)| \left(\int_0^1 \alpha^n \left(\frac{|f^{(n)}((1-\lambda)a + \lambda b|^q}{|f^{(n)}(b)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}}.
\end{aligned}$$

If $\lambda = \frac{1}{2}$, then from (2.13) and Lemma 2, we have

$$\begin{aligned}
&|C(f, x, n, \lambda)| \\
&\leq \frac{b-a}{n!2^{n+1}(n+1)^{1-\frac{1}{q}}} |f^{(n)}(a)| \left(\int_0^1 \alpha^n \left(\frac{|f^{(n)}(\frac{a+b}{2})|^q}{|f^{(n)}(a)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
&\quad + \frac{b-a}{n!2^{n+1}(n+1)^{1-\frac{1}{q}}} |f^{(n)}(b)| \left(\int_0^1 \alpha^n \left(\frac{|f^{(n)}(\frac{a+b}{2})|^q}{|f^{(n)}(b)|^q} \right)^\alpha d\alpha \right)^{\frac{1}{q}} \\
&= \frac{b-a}{n!2^{n+1}(n+1)^{1-\frac{1}{q}}} |f^{(n)}(a)| \left(\varphi \left(|f^{(n)}(\frac{a+b}{2})|^q, |f^{(n)}(a)|^q \right) \right)^{\frac{1}{q}} \\
(2.14) \quad &\quad + \frac{b-a}{n!2^{n+1}(n+1)^{1-\frac{1}{q}}} |f^{(n)}(b)| \left(\varphi \left(|f^{(n)}(\frac{a+b}{2})|^q, |f^{(n)}(b)|^q \right) \right)^{\frac{1}{q}},
\end{aligned}$$

where $\varphi(.,.)$ is defined as in (2.1).

If $\lambda = 1$, then from (2.13) and Lemma 2, we have

$$\begin{aligned}
(2.15) \quad &|C(f, x, n, \lambda)| \\
&\leq \frac{(x-a)^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}(a)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}} \\
&\quad + \frac{(b-x)^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}(b)|^q, |f^{(n)}(x)|^q \right) \right)^{\frac{1}{q}}.
\end{aligned}$$

If $\lambda \neq 1$ and $\lambda \neq \frac{1}{2}$ from (2.13), we have

$$\begin{aligned}
 (2.16) \quad & |C(f, x, n, \lambda)| \\
 & \leq \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1-\frac{1}{q}}} |f^{(n)}(a)| \left(\varphi \left(|f^{(n)}(\lambda a + (1-\lambda)b|^q, |f^{(n)}(a)|^q) \right) \right)^{\frac{1}{q}} \\
 & + \frac{(x-(\lambda a + (1-\lambda)b))^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}(\lambda a + (1-\lambda)b|^q, |f^{(n)}(x)|^q) \right) \right)^{\frac{1}{q}} \\
 & + \frac{((1-\lambda)a + \lambda b - x)^{n+1}}{n!(b-a)^n(n+1)^{1-\frac{1}{q}}} |f^{(n)}(x)| \left(\varphi \left(|f^{(n)}((1-\lambda)a + \lambda b|^q, |f^{(n)}(x)|^q) \right) \right)^{\frac{1}{q}} \\
 & + \frac{(b-a)(1-\lambda)^{n+1}}{n!(n+1)^{1-\frac{1}{q}}} |f^{(n)}(b)| \left(\varphi \left(|f^{(n)}((1-\lambda)a + \lambda b|^q, |f^{(n)}(b)|^q) \right) \right)^{\frac{1}{q}}.
 \end{aligned}$$

The desired result follows from (2.14), (2.15) and (2.16). $\square$

Corollary 7. *In Theorem 3, if we take $n = \lambda = 1$, we obtain the following generalized trapezoidal type inequalities*

$$\begin{aligned}
 & \left| \frac{b-x}{b-a} f(b) + \frac{x-a}{b-a} f(a) - \frac{1}{b-a} \int_a^b f(t) dt \right| \\
 & \leq \frac{(x-a)^2}{2^{1-\frac{1}{q}}(b-a)} |f'(x)| \left(\varphi(|f'(a)|^q, |f'(x)|^q) \right)^{\frac{1}{q}} \\
 & + \frac{(b-x)^2}{2^{1-\frac{1}{q}}(b-a)} |f'(x)| \left(\varphi(|f'(b)|^q, |f'(x)|^q) \right)^{\frac{1}{q}}.
 \end{aligned}$$

Corollary 8. *In Theorem 3, if we take $n = \lambda = 1$, and $x = \frac{a+b}{2}$, we obtain the following trapezoidal type inequalities*

$$\begin{aligned}
 & \left| \frac{f(b)+f(a)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right| \\
 & \leq \frac{(b-a)}{8} \left\{ |f'(\frac{a+b}{2})| \left(2\varphi(|f'(a)|^q, |f'(\frac{a+b}{2})|^q) \right)^{\frac{1}{q}} \right. \\
 & \quad \left. + |f'(\frac{a+b}{2})| \left(2\varphi(|f'(b)|^q, |f'(\frac{a+b}{2})|^q) \right)^{\frac{1}{q}} \right\}.
 \end{aligned}$$

Corollary 9. *In Theorem 3, if we take $n = 2\lambda = 1$, we obtain the following midpoint type inequalities*

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(t) dt \right|$$

$$\leq \frac{b-a}{8} \left\{ |f'(a)| \left(2\varphi \left(\left| f' \left(\frac{a+b}{2} \right) \right|^q, |f'(a)|^q \right) \right)^{\frac{1}{q}} \right. \\ \left. + |f'(b)| \left(2\varphi \left(\left| f' \left(\frac{a+b}{2} \right) \right|^q, |f'(b)|^q \right) \right)^{\frac{1}{q}} \right\}.$$

Acknowledgement

We would like to thank the anonymous reviewers for their very helpful feedback.

REFERENCES

- [1] P. Cerone and S. S. Dragomir, Ostrowski type inequalities for functions whose derivatives satisfy certain convexity assumptions. *Demonstratio Math.* **37** (2004), no. 2, 299–308.
- [2] S. S. Dragomir and R. P. Agarwal, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula. *Appl. Math. Lett.* **11** (1998), no. 5, 91–95.
- [3] S. S. Dragomir and B. Mond, Integral inequalities of Hadamard type for log-convex functions. *Demonstratio Math.* **31** (1998), no. 2, 355–364.
- [4] H. Kavurmaci, M. Avcı and M. E. Özdemir, New inequalities of Hermite-Hadamard type for convex functions with applications. *J. Inequal. Appl.* **2011**, 2011:86, 11 pp.
- [5] U. S. Kirmaci, Inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula. *Appl. Math. Comput.* **147** (2004), no. 1, 137–146.
- [6] M. A. Latif and S. S. Dragomir, New inequalities of Hermite-Hadamard type for n -times differentiable convex and concave functions with applications. *Filomat* **30** (2016), no. 10, 2609–2621.
- [7] B. Meftah, Some new Ostrowski's inequalities for functions whose n th derivatives are r -convex. *Int. J. Anal.* 2016, Art. ID 6749213, 7 pp.
- [8] B. Meftah, Ostrowski inequalities for functions whose first derivatives are logarithmically preinvex. *Chin. J. Math.* (N.Y.) 2016, Art. ID 5292603, 10 pp.
- [9] B. Meftah, M. Merad, N. Ouanas and A. Souahi, Some new Hermite-Hadamard type inequalities whose n^{th} derivatives are convex. *Acta Comment. Univ. Tartu. Math.* **23** (2019), no. 2, 163–178.
- [10] B. Meftah, M. Merad and A. Souahi, Some Hermite-Hadamard type inequalities for functions whose derivatives are quasi-convex. *Jordan J. Math. Stat.* **12** (2019), no. 2, 219–231.

- [11] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and new inequalities in analysis. Mathematics and its Applications (East European Series)*, 61. Kluwer Academic Publishers Group, Dordrecht, 1993.
- [12] C. E. M. Pearce and J. Pečarić, Inequalities for differentiable mappings with application to special means and quadrature formulæ. *Appl. Math. Lett.* **13** (2000), no. 2, 51–55.
- [13] J. Pečarić, F. Proschan and Y. L. Tong, *Convex functions, partial orderings, and statistical applications. Mathematics in Science and Engineering*, 187. Academic Press, Inc., Boston, MA, 1992.
- [14] M. Z. Sarikaya and H. Yaldiz, On Hermite Hadamard-type inequalities for strongly log-convex functions. *arXiv preprint* arXiv:1203.2281. (2012).
- [15] M. Z. Sarikaya, H. Bozkurt and N. Alp, On Hermite–Hadamard type integral inequalities for preinvex and log-preinvex functions. *Contemp. Anal. Appl. Math.* 2013, **1**, 237–252.

(1) LABORATOIRE DES TÉLÉCOMMUNICATIONS, FACULTÉ DES SCIENCES ET DE LA TECHNOLOGIE,
UNIVERSITY OF 8 MAY 1945 GUELMA, P.O. BOX 401, 24000 GUELMA, ALGERIA.

Email address: badrimeftah@yahoo.fr

(2) DÉPARTEMENT DES MATHÉMATIQUES, FACULTÉ DES MATHÉMATIQUES, DE L'INFORMATIQUE
ET DES SCIENCES DE LA MATIÈRE, UNIVERSITÉ 8 MAI 1945 GUELMA, ALGERIA.

Email address: marrouchehayma5@gmail.com